Distributive Property Homework Name
Distribute and Evaluate the Following
4 (1 + 7) Expression 6 (5 - 3) Expression 3 (5 +9- 3)
Distribute Distribute
Evaluate Evaluate
9 (2)( - 3y) Expression 5 (2x + y) .Expression 2 (8)6 - 7)
Distribute Distribute
9(x—2y+4z) Expression 4(Sa—b—7c+2) Expression 12(5x—3b)
Distribute Distribute
3(2x+5)+7 Expression 8(4x+3)—7 Expression 6(4+3x)—10x
Distribute Distribute
Combine Combine
Like Terms Like Terms




Which expression is equivalent to 3(6m) -+ m?

A 19m

B 2Im

C 7m+3

D 18m+ 6m?

The expression below was simplified using two properties of operations.
5(11z + 29 + 62)
Step 1 5(11z + 6z + 29)
Step 2 5(17z + 29)
Step 3 85z + 145

Which properties were applied in Steps 1 and 3, respectively?

A commutative property, then distributive property
B commutative property, then identity property

C  associative property, then distributive property
D

associative property, then commutative property

Which expression is equivalent to 5(d + 1)?

A 5d+5
B 5d-+1
C d+5
D d+6



Distributive Property Homework

Name

x* 22

T

Hlxt 177

(
Distribute and Evaluate the Following
~ 'V e R Y.y
N’ 4 (l - 7) Expression 6 (5 = 3) Expression 3 (5 +8 = 3)
L]‘! + 4'7 Distribute CpS" Cp‘s Distribute 3'5"' 3'?'3'-5
L1  — HRSISSE. R S Lo b—
q + 2—% Evaluate 30 - [ % Evaluate IS il s q
(- J
e @ &
9 (2x s 3y) Expression 5 (2x + y) Expression 2 (8x - 7)
18 X~ 2 1 \_/ Distribute fD % 5 2 Distribute lox - I
9(x—2y+4z) Expression 4(561—[)—70-%—2) Expression 12(53(—3[))
q X = ’8\! t %l Distribute 200 . L{b "28C a1 Distribute (OOX - 36 b
3(2x+5)+7 Expression 8(4x+3)—7 Expression 6(4+3x)—]0x
(QX E S %] Distribute  DZX +24 =7 pistribute 29+ [8 x ~1Ox
L_——-"_"! L—-———J SIS |
Combine Combine
Like Terms Like Terms

2‘}+8x




Which expression is equivalent to 3(6m) ~Im?

| ==
@ 19m 18m + lw\
—
B 21m 19
C 7m+3 -
D 18m + 6m?

The expression below was simplified using two properties of operations.
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Which properties were applied in Steps 1 and 3, respectively?

@ commutative property, then distributive property
B commutative property, then identity property

C  associative property, then distributive property

D
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